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(1) -13x-7=84
-13x=84+7
-13x =91

x:91><(

x=-7

3) -3-4a=a+7
~4a-a=T7+3
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ax-T=a-x1Zx=-2%2RALT,

ax(-2)-7T=a-(=2)
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-2a-T=a+2
-2a—-a=2+7
-3a=9

a=-3
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4x-7=8-2x
dx+2x=8+7
6x =15

x=15><l
6




HS5.3
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3x+76=4x-23

3x—4x=-23-76
-x=-99
x=99
LoT, AEOAEIE, 3x+76 (7212 4x-23) ITx=99% AL T,
3x99+76=3%x(100-1)+76

=300-3+76=|373 A\
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ADEHONDO, TN, — DN OEEFNEFNa,b,ctEL &,
A =100a+10b+c¢
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B=100¢c+10b+a
EEREET,
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23A —12B = 23(100a + 106 + ¢) —12(100¢ + 10b + a)
=(2300a + 2306 + 23¢) — (1200¢ + 1206 +12a)
=2300a + 2306 + 23¢ —1200c — 1206 —12a
=2288a+1106-1177¢
=11x208a+11x106-11x107¢
=11x(208a +10b—-107¢)
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